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1. What are three things that molecules do that give them kinetic energy?
2. Chocolate bars are solid but they stili have an odor. Draw a particle
picture in this box between the nose that explains this:

3. The video on Tuesday described molecules as doing 'The Dance'. What
are the only two moves allowed in this dance?
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1. How well ca n you membnze? Write numbers onto each thermometer to

match the three indicated amounts of temperature T

i)

side of your class notes. . .

Degrees
Fahrenheit
boiling water
-~ human body
P frozen water
Write the
symbol for
degrees

Fahrenheit:

Degrees
Celsius

{001

7

O W

Write the
symbol for
degrees
Celsius

frozen water

not to look at the other

Write the
symbol for
Kelvins




1. Which will have more energy:
a. asolid substance
t as a liquid
2. If the Treezing point of neon is negative 249 °C, what is the melting
point of neon?

~249"c
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3. Inevery 1 meter there are (l l mxcrometers

4. In every 1 megameter there are l (g 09 dmeters.

Underline the GIVEN (the lonely unit that is not paired with another
unif). Circle CONVERSION FACTORS (pairs of units). Draw a box around
the GOAL (the unit the answer should he. ix

k.2 mass of 650 g ams Yachnd you

how many grams o brat will you eat

eat L brat every 15.00 minut
in 18.1 minutes?

Solve:
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The test can include anything from notes and homework since Oct.1. This
review gives many of the highlights.

1. As you increase the temperature of a gas in a sealed, rigid container, what happens
to the density of the gas? Use words antuiwngs to explain.
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2. Draw a qualitative graph (no numbers) for partlcl&s of gas |n a oonwmer to show ho

2. Draw a qualitative graph (no numbers) for pamcles of gas in a container to show how
the first property varies with the second. Label both axes of each graph.

presule

a. pressure vs. amount of gas
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¢. pressure vs. volume of the
, container

»

Pressure
P ressle

d. Of the above Graphs, which is the only one that showed an inverse relationship
between the two variables?
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e. What is the word that desc;ibos the relationship between the variables in the other two
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3. Convert these to schmmf notation

026 = 2 5"
0.025 -2-3’l < Y
0.0026 =25 "‘O.’
T - o |q

g5 =0

5,000 =

|4. Convert these to standard notation
6, 3.35x10" =

7. 12x10* -o wOll

8 1x100 = . [Q000

9 1x10! = O.'

10, 4% 107 = q

5. Under the following conversion factors write how many significant figures it contains

AL S<

Wiy T ool e 75%";#1,;‘:% 1 mehes 3 b Dl
0, n X
infte ! intYe 7 7 0 Tl P
M'Fm’k. e"'ﬂw?e [%.j\gfub‘r be cove ';f,{lfts b
C =
Jatkien) Courtod o eosy ,,Leémmo,\ Yhens ufe ment

3

t




6. Adiagram in a chemistry textbook shows the
magnified view of a flask of air seen here at the
right. What do you suppose is between the dots
(the dots represent air molecules)?
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7. What do molecules do to a balloon that creates pressure on the balloon? (use words
* and/or pictures in your explanaﬁon)

Mskecyles Colliding il Ave bl loos
credte  pressure

Which statement best explains why a hot air balloon rises when the air in the balloon is heated?
For each of the four choices either say “I agree” or Explain what is wrong with the reasoning.

Idea - Your comment:

8. Heat rises. Hot things want to i \
rise. <
Tw 'T%‘QQ’ agTss
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9. Some of the gas escapes from
the bottom of the balloon, thus T

decreasing the mass of gas in
the balloon. This decreases the
density of the balloon and the
balloon rises.
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10.The particles move faster when i
" hot, hitting the sides of the .
balloon harder and pushing the ' ) i _}‘
. balloon up. TboA eves (receq
they | WI, et P andAle
11.Heating the air makes the are 0(7?"*\ a? 40 rees Aro~ outsi
‘particles of air larger. Since loe
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each patrticle is larger but still
the same mass, the density is > \ Se>

less and the balloon floats. h\o (ecu(es do SL\, W adh 3'”"“{

,grﬂ%d*\;r; f;[:«ao\; ondh

{Hu ¢ bsien sy F"W’l e
V\é\:ecdes faribar QP‘N% o WMl

\




use these ERDE T deng-lt;[g-/-mitl

Sutbaed | Aluminum 270 |
for the : Titanium 4.54 :

4 Zinc 7.13"°
density. . 73100
problems EESIN 7.87 |
REIE | Nickel 8.90 §
packet (IR R 8.96 4

12. Remember, conversion factors should have the same amount of stuff on top and bottom.
If the factor is incorrect rewrite it so it isn't. Don’t move the words, just change numbers.
12 dozen 2.70 g Copper 1 gof Tin

legg 1 mlL Copper 731mL Tin

dozen | | 8.968%5 \q of Nits
[ s T

12 9339 \ als T
13. Finish this "For every..." sentence

For every one mL of copper there would be8 a (o grams COpper.
14.Use the density table from an old worksheet. If you had 38.00 g of titanium, how many

mL of titanium would you have?

38.00 g titanium \ mL Titanium
1 4.5y gTitanium 7

15.What are two types of numbers in story problems that have infinite significant
figures? \ S < s
N Curted Ji\c\‘u\qs and Xonoly defintion
“ -~

16.The boiling point for aluminum is 2743 kelvins and the melting point is 933 kelvins.
Draw a highly magnified view of a sealed, rigid container filled with 2000 K aluminum.
Then draw what it would look like if it were at 1000 K. Finally draw what it would look
like at 500 K.
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17.Which temperature scale(s) can be used to measure the temperature of freezing
water?

a. celsius c. kelvin

b. fahrenheit al

e. none of them
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18.What is different about the attraction of particles in gases contrasted to parucleim liquids?
Gos icddes  ore <o fmr Aapert tay
aXtrackt \ Much .
19.What is kinetic enem ich temperature scale is best for Qeasun‘ng it?
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20. The graph above 21. The graph above 22. The graph above
represents the represents the represents the
relationship relationship relationship
a. pressure vs a. pressure vs (@ pressurevs )
temperature in kelvins temperature in kelvins temperature in kelvins_~
P pressure vs b. pressure vs b. pressure vs
K rature in celsius /t/temw%at)ure in Celsius | temperature in Celsnus
c. neither neithe c. neither

23. If you buy 3 boxes of titanium ribgs, and eaetf ring has a mass of 347 grams, and each box
contains 24 rings, what will be the tofal mass,of rings in grams?

Swsx QU v\ /347 4

:7> bor | r-‘nj

24. When the gas collides with the wall of the box it tauses pressure. Based on the number of
hits, pressure seems to be @ / inversely) related to temperature of gas molecules.

)1

25. What do you predict would happen to the number of hits if you had two boxes with the same
temperature but one box was % the size of the other box? Circle choice:
?‘the smaller box would have twice as many wall hits
b. each box would still have the same number of hits
¢. the smaller box would have half as many wall hits

26. Based on what you learned about pressure of a gas in two boxes of different size, finish the
following sentence. “When the size of the container increases, the pnessure on the walls...

declfeaseS
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6. What property of matter best describas tho way a typical alecohol
thormomotor works? Hxplain (in terma of enorgy transfer) why the
nleohol level in the thermometer rises (or fulls) whoen you place the
thermometer in contact with both warmer (or colder) objects.
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7. If you feel feverish, why can't you take your own temperature with your
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8. Your older brother announces that the lid to a jar of pickles from the
refrigerator is “impossible” to loosen. You take the jar, hold the lid under
the hot water from your sink’s faucet for a few seconds, and calmly open
the jar. Your brother, when faced with this blow to his pride, claims that
he loosened it for you. What knowledge of materials have you appliéd in
this situation that really explains how you were able to open the lid?
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9. Describe how Anders Celsius devised the temperatge scale that bears his

P mq/)& ‘Pfo% »‘:j{(/yﬁ% cleede 1S
Meeriny ant  polling /o1t 4w clenfz
C¢ fs\vtS.LJj O‘DSQ}'\I:B howr mvelh

& fube of [iquid ety
expanded  ond  contra ctec

10. Which would feel warmer to the touch - a bucket of water at 50°C or a
bathtub filled with water at 25°C? Which of these stores more energy?
Account for any differences in your answers to these questions.
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